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20MoBUMCS

3agaHue Ne1.
PewuTe ypaBHeHMue:

sin x =1

1. 2nk, keZ.

2 (—1)k§+2nk, keZ.

3. nk, keZ.

4. %+2nk, keZ. >




20MoBUMCS

3agaHue Ne2.
PewunTte ypaBHeHuUe:

SIN 2X = —

A\
A

1. i§+4nk,keZ.

T
2_ 12+Tck keZ.

3 (_1)k§+2nk,kez.

k T
4_ (—1) E+2Tck keZ. >




20MoBUMCS

3agaHue Ne3.
PewunTte ypaBHeHuMe:

cos x =—1

n+2nk, ke Z.

2nk, ke ”Z.

(-1 Z+2mk, keZ.

L4 2mk, keZ >

= B




20MoBUMCS

3agaHue No4.
PewunTte ypaBHeHue:

tg x =1

1. %+2nk,keZ.

>

TU
—+ 1k, keZ.
4" -

i§+2nk, keZ.

AW

nk, keZ. >




20MoBUMCS

3agaHue No5.
PewnTb ypaBHeHue:

2

COS X =———
2

1. i%+2nk, keZ.

2_ i%+2nk,keZ.

3. (—l)k%+nk, keZ.

4. (_1)k+1§+nk, keZ. >




20MoBUMCS

3agaHue N2o6. PewunTtb ypaBHeHuMe:

2sin x =1

1. (—l)k%+7rk, keZ

2_ i§+2nk, keZ

3 i%+2nk,keZ.

4. (—1)"%”1«, keZ




20MoBUMCS

3agaHue Neo7.
PewuTb ypaBHeHue: , = =

1. i§+2nk, keZ.

>

i%+2nk, keZ

(—1)k%+7rk, keZ

(—l)k%+7rk, keZ >

AW




20MoBUMCS

3agaHue Neo8.
PewnTb ypaBHeHuMe:

cos 3x =1




20MoBUMCS

3agaHue Ne9.
PewnTb ypaBHeHuUe:

sin 2x =1

1. %mk, keZ.

2. %k, keZ.

3. (_1)k§+nk, keZ.

4. Tk, ke Z. >




20MoBUMCS

3anaHue Ne10.

PewuTb ypaBHeH#Ue:

1
—— __ _1
COS —X

1. 47k, keZ.

2 tn+4nk, keZ.

3. nt+dnk, kel

4. I(—l)kTC+47tk, keZ.




20MoBUMCS

3agaHue Nel1.
PewunTb ypaBHeHue:

sin2x—0,5=0

+ % kez
1- 12 2’ <

2. (~1)* S+ 2mk, keZ

3_ (—1)k§+4nk, keZ

4. (VI ker >




20MoBUMCS

3agaHue Ne12.
PewunTb ypaBHeHue:

cos3x—0,5=0

1. i23—n+6nk, keZ

>

27k
+ X keZ
9" 3 "

. (_1)k§+2nk, keZ

_1)"23—n+67tk, keZ >

> W




20MoBUMCS

3agaHue Ne13.
Pewntb ypaBHeHuUe:

tg2x—\/§=0

T Tk
24 2 kFeZ
1- 6+2’ =

2. §+nk, keZ

3. (—l)k%+nk, keZ

4. +n+2nk, ke”Z >




20MoBUMCS

3agaHue Ne1i4.
PewuTb ypaBHeHMUe:

V2

2x -2 =0
COS ZLX >

1_ i§+4nk,keZ

2. (-)'Zemkkez

3- i§+nk,keZ

4 (—1)k§+nk, keZ




20MoBUMCS

3agaHue Ne15.
PewunTb ypaBHeHuUe:

tg2x—1=0

1_ %+TEk,kEZ

T Tk
v YA
8+2,ke

>

(_1)k§+%k, keZ

AW

i%+2nk, keZ
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